1. a) Write the slope and the coordinates of a point on the liney — 4 = %(x + 2).
Vy = m=____ ,andx, =
So, the slope is , and the coordinates of a pointare
b) Graph the line. o
R . 6_
Plot the point P :
4.
The slope is 21
o , X
So, theriseis _ and therunis FIP RN

2. A line passes through F(—1, 8) and has slope —3. Write an equation for the line.

Use the slope-point form of the equation:

An equation is:

3. a) Graph the line that passes through U(2, —1), and has slope 2

b) Write an equation for the line in part a.

An equation is:

4. Write this equation in slope-intercept form: y + 5 = —4{(x — 3)

y+5=—4(x - 3) Expand.
y+5= Solve for y.
y =
y =

The equation is:
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5. A line passes through P(—3, 4) and Q(3, —6). Write an equation for the line.

Use the formula: Slope = Ya=h
X2 - X1

Slope of PQ =

In slope-point form, an equation is:

6. An equation of a lineisy = —%x + 4,

a) Write an equation for the line that passes
through R(1, —3) and is perpendicular to y = ——;-x + 4.

The slope of the line is

The slope of a perpendicular line is

An equation of the line is:

b) Write an equation for the line that passes

through R(1, ~3) and is parallel to y = _EB;'X + 4.

An equation of the line is:




